
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

2907, 8 × 0.001 = ________ 4386, 8 × 0.0001 = ________

9840, 1 × 0.01 = ________ 1327, 6 × 0.001 = ________

3090, 6 × 0.001 = ________ 9608, 5 × 0.001 = ________

9356, 6 × 0.1 = ________ 8599, 2 × 0.01 = ________

2064, 6 × 0.1 = ________ 1704, 6 × 0.1 = ________

7303, 8 × 0.0001 = ________ 7906, 4 × 0.01 = ________

4798, 9 × 0.1 = ________ 1264, 7 × 0.0001 = ________

2412, 7 × 0.01 = ________ 4978, 6 × 0.0001 = ________

7307 × 0.1 = ________ 7866, 7 × 0.1 = ________

9828 × 0.01 = ________ 4208, 7 × 0.0001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

2907, 8 × 0.001 = 2.9078 4386, 8 × 0.0001 = 0.43868

9840, 1 × 0.01 = 98.401 1327, 6 × 0.001 = 1.3276

3090, 6 × 0.001 = 3.0906 9608, 5 × 0.001 = 9.6085

9356, 6 × 0.1 = 935.66 8599, 2 × 0.01 = 85.992

2064, 6 × 0.1 = 206.46 1704, 6 × 0.1 = 170.46

7303, 8 × 0.0001 = 0.73038 7906, 4 × 0.01 = 79.064

4798, 9 × 0.1 = 479.89 1264, 7 × 0.0001 = 0.12647

2412, 7 × 0.01 = 24.127 4978, 6 × 0.0001 = 0.49786

7307 × 0.1 = 730.7 7866, 7 × 0.1 = 786.67

9828 × 0.01 = 98.28 4208, 7 × 0.0001 = 0.42087
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